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e e et foreror FfSt
CHILD DEVELOPMENT AND TEACHING METHOD
L = 8 A @y e weamm A g 1. Which of the following is the most sugiect“’e
faafss ffr 2 7 method of educational psychology - ’
) Foew () SRew (1) Observation  (2) Extrospection
(3) Wi (4) (3) Experimentation (4) Introspection
2. weEs fr 3 @ el gafRa R ? 2. Albert Bandura is associated with which of
) ; 53 _ the following ?
(1) ErTeneh foemre w1 g (1) Cognitive Development Theory
(2) =rEERET! fagr (2) Behavioural Theory
(3) AR faemE (3) Psychosexual Development
(%) st A faer (4) Social Learning Theory
3. aftrm 1?( T e A @ feg Hwo sar § 7 3. Plateau in learning curve is caused due to
(1Y) ¥ g (1) Fatigue
(2) SO E (2) Motivation
@) ¥z (3) Interest
(4) e g/ (4) Maturation
4. v R e RRY TIoA g A B R 7 4. Mirror Drawing Test is used to measure
(1) GoHTeasHaT Hi (1) Creativity
(2) 3TRRATH =T H (2) Transfer of learning
(3) Ihwfa=H (3) Interest
(4) fepm & wfa & (4) Rate of learning
5. Ferse fumeR whe fre f § forges Ao | WY 5. Cloud Picture Test is used to measure
Taie ? which of the following ?
(1) AfYema (2) =Afda (1) Aptitude (2) Personality
(3) afiEf= 4) 9f< (3) Interest (4) Intelligence
6. Uigad % Hied i AR 31 1S a9 8, IR 6. Five years old Mohan has mental age of
sfg afey frai 8 7 eight. What is his 1.Q. ?
(1) 140 (2) 160 (1) 140 2) 160
(3) 135 (4) 150 (3) 135 () 150
7. T W HA-G1 IE.F, W ARG G Ferhl FH 7. Which 1.Q. range is called trainable 1.Q.
gt di 37,5, T HEAT 8 ? level of mentally retarded children ?
(1) 36-49 (1) 36-49
(2) 50-69 () 50-69
3) 35w fm (3) 35 and below
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Ay Q wefRa 2, @8 SEeTar

(1) sfAfd

(2) o

(3) wETE

(@) wifeash

fadsmmai=Ee?

(1) ¥ 1 qlegr

(2) 16-9. .

(3) LI Tl

4 ..

78,9, 10, 11, 12 I 7EIH 8

(1) 10 (2) 9

(38) 9.5 (4) 8

g a1 TS 3 T o sfare feran

(1) T

(2) Neereardt HAATHE

(3) f&F=

(4) oiHeES
ﬂa@a%mmﬁﬁﬁﬁ'ﬁmm%
(1) g (2) wam
@) fom (4) €FH
qﬁsﬁqaauymﬂqté%$ﬂﬁﬁaﬁﬁmﬁﬁﬁﬂ
ETSIGI
(1) from (2) A&
(3) ETR el (4) E[aﬂ T
-2/B

8. Rorschach ink blot test is used to measure

which of the following, ¢
(1) Interest (2)  Intelligence

(3) Aptitude (1) Personality

9. It is not the cause of forgetting
(1) Mental conflict
(2) Desire to remember
(3) Defective methods of remembering

(4) Under learning

10. The science which deals with the method
of collecting, classifying, presenting,
comparing and interpreting numerical data
is called
(1) Geometry
(2) Mathematics
(3) Probability
(4) Statistics

11. Find the odd one out.
(1) Raven’s test
(2) 16 - P.F.
(3) Draw a man test
4) T.A.T.

12. The median of 7, 8, 9, 10, 11, 12 is
(1) 10 2 9
(3) 9.5 4) 8

13. Who has propounded the theory of
insight ?
(1) Hegarty
(2) Gestalt Psychologist
(3) Skinner
(4) Thorndike

14. According to McDougall, every instinct is

associated with
(1) Sensation
(3) Thinking

(2) Emotion
(4) Cognition

15. Giving meaning to sensation on the basis

of past experience is called
(2) Perception
(4) Sensation

(1) Motivation
(3) Imagination

(P.T.O.
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16, frsd aras ¥ fog it af

s ) raareT faper
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17. frm i @ Y- uE 399 g A frdaiad
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Tt (2) qudl
S N— (4) el
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s

wl?
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19, Gfefgs 3@ 9 wagd oA TR ?

el
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20w ¥ wgwEn evEers e $ G s
Y od #FaerE sEEn
2] srarie w@iFEa e
(3] TF @FE IEEd]
T A AT

@ N

rZ
21. 7=yt d vE gy fasan @ S qrf s R
7 e gl 3 A9 SIS | WTehfae el @
(2) Fae ¢ Aa fafzra g
(3) FAA FAEFT W
(4] a4 51 |
22. vrAmEfauEd 6 - 14 =ri%a€a’i%%qﬁ:w
4 it fov &1 wfawn fos 1 orfie 2
(1) #2454
(2) #qg=hz 15 ¥
(%) A% 21A 1
(4) H{T42 26 1
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20.

21.

22.

ational
Who has giV(‘ﬂ the (fnr‘[(}(_‘pt of Edl_lCc..ltlon

Quotient for backward children 2
(1) Burton Hall

(2) Schonell

(3) Cyril Burt

(4) Gorden

Which among the following s different from

characteristics of a good test ?
(1) Objectivity (2) Validity
(3) Aptitude (4) Reliability

Which of the following is not theory of

intelligence ? '
(1) Theory of regression
(2) Two factor theory
(3) Multifactor theory
(4) Unifactor theory

Which one of the following is not ductless

glands ?

(1) Salivary glands

(2) Pituitary glands
(3) Thyroid glands

(4) Adrenal glands

According to Piaget the second stage of
cognitive development is

(1) Pre-operational stage

(2) Formal operations stage

(3) Concrete operations stage

(4) Sensory-motor stage

The main characteristic of basic instinct is
that which is found

(1) All organism and it is inborn and natural
(2) Only in Cats and Rats

(3) Only in Artists

(4) Only in human beings

The right to free and compulsory education
for children between age group of 6 - 14 has
been included in Indian Constitution as
(1) Article 45

(2) Article 15

(3) Article 21A

(4) Article 26
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(1) TR

(2) SN

(3] e

(4)

v e T ST SR T H
B
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23.

24,

25.

26.

27.

28.

29.

30.

Kretschmer has classified the persons in
one of the following main types

(1) (2) Athletic

(3) (4) Asthenic

Picnic
All of these

Purpose of T.E.T. is meas\ ,
following ? ire which of the

(1) Attitude
(3) Values

Consolidation theory explain which of the
following ?

(1) Motivation
(3) Creativity

(2) Aptitude
(4) Intelligence

(2) Memory
(4) Learning

What is the factor influencing physical
development in the following ?

(1) Sports and exercise

(2) Environment

(3) All of these

(4) Heredity

Which of the following is correct formula
to calculate 1.Q. ?
C.A.
M.A.
&A_.
M.A.
M.A.
C.A. x100

B x 100
A.

(1) %100

(2)

(3)

(4)

Who described Reflective Thinking’ from
the following ?
(1) Woodworth
(3) Drever

Which is not included in the levels of
inductive reasoning ?

(1) Generalization

(2) Experiment

(3) Imagination

(4) Observation

(2) Ross
(4) Dewey

Failure in retention and recall of learn
content is

(1) Retention (2) Memory

(3) Thinking (4) Forgetting

(P.T.


https://bit.ly/3I8jnAu

%

grT - 11 / PART - 11

grar - I : f&=t / Language - I : HINDI

31. T4 -7 HAE R 7!

(1) =dura (2) fam
(3) =whife (4) %
32. AMATR %7 A4l 2
(1) #ga =44 %1
(2) = vE faed =
(3) HHequrm F1
(4) w@ETHTT %!
33. ' AN syImfE wfl ww A g |
fohet w21 et &1 uya e |
3 faedi 1 ygad | 2
(T) wam== 14 (2) ™
(3) FEUITH (4) =@
34. W favfa fe & & e e 3 oo v A 2 7
(1) ToEF (2) w4
(3) == (4) =i
35. ‘381 TR W B - 5@ A e
frerifre & @ forg o =1 SemTor 2 7
(17 Fearde faran (2) Sromds fea
(3) I fFr  (4) wgaa fEa
36. g1 g F o d
(1) w5 (2) =Gt
(3) am (4) wfdn
37. ‘fem i ifeq’ F wEER AR E 7
(19 w1 @AM (2) e gem
(3) 391 fSrrar (4) T Gt
38. A 39 UF Y9 % EHIHR A
(1) =TqF=< I (2) =TerFT wg
(3) #wer qvi fiw (4) FtFmrEY S
39. T geriar 1 fya IR % e wre w
g 7
(1) 1™ =1 (2) =ftaR
(3) afrfiFIare  (4) wERERY
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50. & UEen T3 R
(1) A" @
(2) sfaem fafaemT
(3) Efw== AT
(4] 34 ATAS

(@) g
(4) wEsETs

51. ‘g FAEAEI R’

(1) &8 2) g

(3) &= (4) gss
52. ‘rhema w1 faEm R

(1) EEA (2) T

(3) wEEA (4) wEm
53. ‘yA TR F AR

(1) T4 (2) T

(3) (4) @
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forn we T1eg FATEA |
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(3) AT (4) onfuefa
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61. Choose the correct sentence.
(1) The committee was divided on this

point.

(2) The committee was one on this point.

(3) The committee have one on this
point.

(4) The committee were one on this point.

62. Which of the following is an example of

Simile ?

(1) Anxiety is sitting on her face
(2) Life is a dream

(3) A lie has no legs

(4) I wandered lonely as a cloud

63. Change the following sentence into Active

Voice.

“The visitors were shown the new-born by

the woman.”

(1) The woman showed the visitors the

new-born.

(2) The woman has shown the new-born

to the visitors.

(3) The woman might have shown the

new-born.

(4) The new-born was shown to the visitors

by the woman.

64. Select the antonym for the word.
‘Adverse’
(1) Inimical
(2) Friendly
(3) Unwilling
(4) Hostile

65. Fill in the blank with correct word to
complete the proverb.

“Blood is than water.”
(1) Purer

(2) Thicker

(3) Precious

(4) Thinner

’aper - 2/B

66.

67.

68.

69.

70.

one word substitution for :

Give
ects.

ientific study of ins
The scienti 2) Entomology

(1) Mycology o
(3) Meteorology (4) Criminology
Point out the correct direct speech of the
following.

I asked why he was looking through the
keyhole.

(1) ‘Why are you looking through the
keyhole ?’ I said. ’
(2) ‘Do not look through the keyhole’

said.
(3) You are looking through the keyhole ?’
I said. ,
(4) ‘Are you looking through the keyhole ?
I said.

Put the verbs in brackets into the correct

present tense.

My daughter never (write) to me so I never

(know) what she (do).

(1) My daughter never writes to me so I
never know what she is doing.

(2) My daughter never write to me so I
never knew what she does.

(3) My daughter never writes to me so I
never knew what she does.

(4) My daughter never wrote to me so |
never knew what she do.

Pick out the correct synonym of the word.
‘Cantankerous’

(1) Noisy

(2) Quarrelsome

(3) Disrespectful

(4) Rash

Pick out the sentence that has a
demonstrative adjective in it.

(1) Each of them received ten Iupees,

(2) This kind of question is often asked in
examinations.

(3) His written statement differs from his
oral one.

(4) Itisa twenty-kilometers walk.
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Wend the given pansape nnd answes thi Ce o
that tolow (Q. No. 71 1o TH) 1w aelecting e
ol .l“!‘tl‘!"l-"l‘“!»‘l"‘l\ .

Hehicopters are very diffevent fom o pliane s
They can do three thimgs that aeplanes cannet

do. First, when

v plione s o upnwae e, they
must also move forwand s bat helicopters cnn
move steught up withouwt moving ahead Second
helicopters can y backward, which |1II|1||1IH".'.
cannot do Third, hebeopters can vse then totors
to hover i the nn o whieh ismpossible tog planes
Helicopters can petlorm actions that ahrplanes

cannotl, they

viaed for different tnake Since
helhicopters can tanke ofl without moving torward
thev do not necd a ranway for take off, They nu:
used m congested areas where there 1s no room
for mrplanes or moasolated areas, which do not
have mirports Because they can hover, they are

used on fire hghting mssions to thnp waler on

fires They are uscd i logging operations to lift
trees out of forests. Helicopters are used as air
ambulances to airhift patients out of situations,
which are difficult to reach, by conventional

ymbulances The police use helicopters to follow

cusnects on the ground or to search for cars on
the pround . Of course, helicopters have military
because of their design and capabilities.

uses

71. The word ‘congested’ in the passage
mearis
I'he place can be accessed by police vans
[he place has no place
Ihe place has so much of smoke due
to fire
The place 1s roomy

72. A helicopter can hover while an aeroplane
cannot. according to the passage. ‘Hover’

in the passage means

) Go backward in the air

(2) Move straight up in the air

(3) Fly sideways

(4) Stay atone€ place in the air

73. Point out the grammatical category of the
word ‘perform’in the passage.
1) Adverb
(2) Verb
(%) Helping verb
(4) Noun

Pap(:r - 2/3

74

785,

76.

7 i

78.

79.

80.

Why 150 heheopter vsed as an ambulance 4

(1) HWreaches the innccessible place:s
annily

() Torosaens all dithcalties of trafhe

(4) 1ocan fire hipght

(1) Maomovement can be manoeuvred

canily

Point out the grammatical category of the
undedined word ‘very' in the above passage

(1) Noun (2)
(3) Verb (1)

Adjective
Adverh
ees are keptan

(1) An apiary (2)
(3) An aquarinm (4

A nursery
A pantry

The idiom ‘green-eyed monster’ means
(1) To be angry

(2) To be sick

(3) To be blind

(4) To be jealous

Select the sentence in which the article has
been wrongly used.

(1) A pupil should obey his teacher.
(2) Twelve inches make a foot.

(3) He is a European.

(4) Heis a MAA,

Pick the correct question tag from the
options.

People shouldn’t drink and drive, .

(1) isn’tit?

(2) should not they ?

(3) shall they ?

(4) should they ?

Point out the part that has an error in the
sentence,

You are learning English/for the last one

A B

year/but you show/no improvement at all.
C D

(1) C (2) B

3 D " A

|P.T.O
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“I'o chew the cud’ « arrectly means
(1)
(2)
(3)
(4) |
Complete the following sentence with rr

To meditale
To die on duly
To inculcate virtues

Contrive against someone

82 1051
appropriate choice. .
‘He was very much ashamed _his

mischief.’

(1) with

(2)

(3)

(4)

Complete the following sentence with

appropriate choice.

' he stood first, he would have

of
over
for

83.

gone to America.’
(1) Have
(3) Anyways

(2) Had
@) If

Fill in the blank.

‘Of the sword and pen the
more powerful.’

(1) latter

(2) later

(3) last

(4) last one

84.
is

Which prefix can be used with the following
words ?

behave, guide, use

(1) mis

(2) dis

(3) re

(4) in

85.

Read the following passage and answer the
questions from 86 to 90 based on it.

Work expands so as to fill the time available
for its completion. The general recognition of this
fact is shown in the proverbial phrase, Tt is the
busiest man who has time to spare.’ Thus, an
elderly lady at leisure can spend the entire day
writing a postcard to her niece, An hour will be
spent in finding the postcard, another hunting
for spectacles, half an hour to search for the

Paper - 2/B

« ] l I
. I ! ill-li r gy L2 1 ¥
11l }“JIJI and i ¢ 1t il'b\‘llfjl;ll.l 1

,in deciding
“ O

addresy,
and twenty rairiutes : the I““"” bty

take an umbrella when goirn i e
to take The total effort that wou ] oL Fj
; all told, may in

ompletely

in the street, ]
a busy man for three minutes
4 23 - .
i shi Ve § ther person ©
is fashion leave ano ' . ;
s day of doubt, anxiety and

exhausted after a
toil.

86.

; » elde
What is the total time spent by the elderly

lady in writing a postcard ) ‘
(1) Four hours and five minutes
(2) A full day

(3) Half an hour

(4) Three minutes

What happens when the time to be spent
on some work increases ?

(1) The work consumes all the time

(2) The work is done leisurely ‘

(3) The work needs additional time

(4) The work is done smoothly

87.

What does the expression ‘pillar box’ stand
for ?

(1) Box office

(2) A box in the pillar

(3) A pillar-type post box

(4) A box attached to the pillar

88.

89. Who is the person likely to take more time

to do work ?

(1) A man of leisure

(2) An elderly person

(3) An exhausted person
(4) A busy man

90.
of the sentence.

for its completion.’
(1) Ifyou have more time,

work.
(2) Whatever time is available for g given
amount of work, all of it will be used.
(3) (I:;fyou have some important work to
0, You should alw
additional time, N
(4) The more work th

more the time needed.
10

Point out the most appropriate explanation
‘Work expands so as to fill the time available

You can do more

€re is to be done, the
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61.
(1) sAdogan (3 FF gan
(8) Frg¥omgan  (4) FTl % IGAR
62. 'gw T HiH wE R 7
(1) 37 (&) &) 47 (Harferw)
(3) 34 (i) 4) 74 (sEM)
63. ‘g ESSEa HwW:' H g3 vgE goml @
(1) ST (2) iR Tk
(3) weER: (4) ¥a: g9avE
64. ‘wiegze:’ IeER
(1) g &
(2) =gl gy
(3) R dege
(4) faan degey
65. 'J1 g forg TR I 6N TearEd w9 R
(1) <R (2) wfR
(3) e (4) S
66. ‘T fawm i <=ife’ = e uftads g
(1) e festor Y daa
(2) ar faso m faa
(3) T foma i: €
(4) T fowma i S
67. % firsd wreafy’ g 1 Ay aiteadT g
(1) T firsa: grgEa
(2) o g g
(3) Teum firer: wraafa
(4) T fire: TrgEa
68. ‘aryfferd wwga amedufored’ i # wga
AEFN B
(1) &9 (2) 39m
(3) wrw (4) T
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aqm - IV (1) / PART -1V (1) E
wfora va fasma /| MATHEMATICS AND SCIENCE

91. The source of oxygen liberated as byprodug

91. VEHWI-GYSIyY § Ieqrg & & § qard AT B
Hid 2 during photosynthesis 18
[{QIJJ R (1) Glucose
Gra
(2) Water
{(i)) :;rjﬁm ) (3) Chlorophyll
. ETRATHTES (4) Carbon dioxide
2. @ aE Pl
- ;ﬁaﬁm arfefat 3 ga aeehT s 92. The .component of blood that prevents its
(1) s clotting in intact blood vessels s
) (1) Thrombin
@) : (2) Heparin
) F” i“ . (3) Haemoglobin
(4) Antibody
93. dma=g ) Diftrd sai ard et 2 93
(1) smamm . Islets of Langerhans are present in
(2 w3 (1) Pancreas
(3) T (2) Liver
) (3) Heart
- (4) Stomach
- UI3H U9 9 9 2T 2
(1) wterede | . Ty
(2) o7 (1) Carbohydrate
3) S (2) Acid
(4) ffie (3) Protein
i (4) Lipid
95. Ffafas § #-a st Rafim o 2 7 9 :
(1) A s 5. Which of the following acid is also a vitamin ?
2) WEHTE I (1) Malic acid '
(3) urfem s (2) Ascorbic acid
(4) it 3 (3) Palmitic acid
. 4) Formic aci
96. ﬁﬁ%‘f‘@ﬁﬁ@ﬁq‘wﬂﬁ%ﬂqaﬂmqﬁ%? (4) Formic acid
' 96. Which of the followi "
1 i ,
(1) Fafe am (2) B of petroleum ? AR ot constituent |
(3) EEhae @) W (1) Paraffin wax (2) Coke
97. T UIg M’ STl R el R BTESIoM e e ) Lubricating oil (4) Petrol
AT 8, W AT ik 97. Ametal W’ :
Y AT @ i w . ' etal ‘M’ does not liberate hydro
ATk 2T} | M’ R vEnfi acids, but reacts wi R o
« | with oxygen to giv
(1) Cu 2 M colour product. Identi give a black
@) ca 4 Na (1) cu L
Paper - 2/B ) @B) Ca o N
/ " (4) Na

>
-~
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fratdaraa o o TATerer: A )
o8. : IV + ) _
sift 7 3 ) wwn sfiraan

1 \'H_¥ 16 g

(.’] CD
l_‘p_}.“\“: '_:i'“‘\;:

; () N‘I;n“”,
o9, RN ai Wl Y wavmenan g.qi; i
q) DA sl
2] KMnO, OH /H.O
yefan fasus
Br, H.O

o 3 N R 2 .
oo, T 22 Fem v & et

AT HET 42 27 100.

\;.10 (2) Na,O

Na( %) OF,

TR 7 FTETE F AR A g 20 gefisd 941 20
o 3 | 71 W FOTCH R

i

- UGk

——

g (2) 50 &
3) 100 #H (4) 25 &

2

Loz, 7T T EE T ST F 4 3 | 102.
3

s o F T FE ST wa R

(2)

103. a’r-v_qr.:ﬁrﬁ“mjam”wtnmﬁm%? 103.

104, s F 9T nmﬂﬁﬁa“ﬁﬂ*ﬁtﬂﬂﬁﬁﬂ%? 104.

A

‘%
3

i

(4)

105, &g T (] 101),% 94 WWM% 105.

106. 1oy Aver R 7

17

98.

L fanfRd fFm S R 2 Hiid 99,

101.

106.

Which of the 1(,“[;“"”{ has maximum
number of atomsa ?

(1) 16 gof CH, (2} 16 goaf CO
(3) 16 ¢ of (]’ 4 16 ¢ of N

In laboratory, ethylene and ac etylene can
be distinguished by

(1) Tollen’s reagent

(2) KMnO,/ OH/H.O

(3) Fehhing solutinn

(4) Br,/H,0

In which of the given ¢ ompound oxidation
number of oxygen 15 +2 ?

(1) NaOQ, (2) NaO

(3) NaO, (4) OF,

Sound waves consist of 20 compressions

and 20 rare in 10 meter length. The
wavelength of wave is

(1) 7S cm (2) 50 cm
(3) 100 cm (4) 25cm
4 3 .
If 3 and 2 be respectively the absolute

refractive index of water and glass, then the
refractive index of glass relative to water is

(1) (2)
(3) (4)

plLwle
Ol o

[n Household wiring, what is the colour of
“Barth wire” ?

(1) Black (2) Green

(3) White (4) Red

Kirchhoff's current law based on conservation of
(1) Charge (2) Momentum

(3) Mass (4) Energy

The decimal number equivalent of binary
number (1101), 18

(1) 13 2) 1
(3) 15 @ 9

What is silk farming ?
(1) Sericulture (2) Pisciculture
(3) Agriculture (4) Epiculture

[P.T.0.
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(2) ATREEHA

(3) S=YIfhet

(4) FTEIHM
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(1) 39a (vdtdfifoan)

(2) Ifey (i)

(3) = (frma=)

(4) IJEHI Fa%

st 1 g (Rafd) s g
(1) Te(H

(2) TEARTH

(3) m=H

(4) HHH

108.

109.

110.

11. 351 F1TE. 3. 75 g 8

(3) = (4) <
12 P, F 747 A #9391: 719, 91 U3 el 1
YETsa #1471, A

(1) P= 2)

o
]

(3

b

(4)

)’]‘Tj: :b'l"ﬂ:
o
1

> > |

3 % 5 F G o A 1 M 10 7 @ g
QSWng,meme% 2
(1) 395
(2) 29
(3) 4 umFs
(4) 19m=

er-2/B

107.

108.

109.

110.

18

111.

112,

113.

= . s A kfinngm
All organisims veiviigss-o -

Protista are ‘
(1) Multicellular and prokaryotic

(2) Unicellular and prokaryotlt‘:
(3) Multicellular and eukarygt1c
(4) Unicellular and eukaryotic

Which of the following pigment is associateq
with the germination of seeds ?

(1)
(2)
(3)
(4)

Chlorophyll
Plastocyanin
Xanthophyll
Phytochrome

The tissue that connects one bone with the
other bone is called

(1) Epithelium

(2) Cartilage

(3) Ligaments

(4) Adipose tissue

Viviparous germination of seeds occur in
(1) Potato

(2) Rhizophora

(3) Sugarcane

(4) Mango

SI unit of heat is

(1] Calorie (2) Erg
L (4) Joule

IfP, F and A represent pressure, force and
area respectively, then

(1) P=

2 P

> | =)
I
> |5

(38) P=

3> |l

4 P

]

>>||

If t
he momentum of body increases from

10 unit to 25 ynis :
unit :
force acting on jt jg ® sec, then working

(1) 3 unit
(2) 2 unit
(3) 4 unit
(4) 1 Unit
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114. @maﬁ%a‘cﬁftawmw
el R iy

a8
5 — a5 114. Mica is used in i
- ) il cooking utensil beca it i
(2) FNH FeTerR AT g B R (2) gectrii?;/dumr i ::3 ul
4 s . ad conduct ;
o f&qa 2 ﬁ;lam GRS conductor ((;fot:l:ét?ii?t ont
o i - EELNES 3 (3) Bad conductor of bo .
. HEISED - electricity thtsasts At
- g —— Eﬁml 4 T BT 2 (4) Good conductor of h
. goﬁaﬁaﬁlq o ro N conductor of electric?t?rt Ak
3) 135° 450
) . 115. Angle of dip at magnetic
116, ST TH T (m L ) el st
(1) PAUSIES onomer) BT § 116 (3) 135° (4) 0°
. . The monomer of natural rubber is
- . (1) Terylene
- AT (2) Isoprene
= (3) Orlon
117, GO FEATH aren A o B
(1) A Sk 117. Whi
(2) . " 0;1 compound has highest boiling point ?
- 4 s
; - entane
@) (3) Isobutane
118. Fifes At & aquatt # n gSE A E e
IR qea 118. Th
1 . e number of n-electrons in mol
- 5 aromatic compound is s
(2) 4n + 1 - -
(3) 2n + 4 ol )
o s @ 2n+h
119. WHE * WH o
(r) 0T ST i 3 AR
wroar 119. Rutherford’s al i
pha (0) part i
: ; particles scatterin
i experiment resulted into discovery of :
- 5é3§14ﬁ (1) Electron
o qTHTY[ AT (2) Nucleus in the atom
e Prencip il (3) Atomic mass
120, ﬁmﬁﬁmﬁwﬁfﬁﬁmqﬁi? o
E Haﬁ 120. Which one of the following i
heterogenous mi .
- ﬁy v i mixture ?
) >4 (2) Milk
4 A
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k - e 4 ﬁmaﬂ
,mﬁﬁaﬂa‘mﬂf?ﬂﬁﬁ@

121, _f S:legoéﬁ(g}:ﬂ%mﬁﬁﬂmﬁ

wm|%ﬁﬁmfﬁﬁ??

: 4

(1) 16

(’3]J 24 1

o= AYH

(2)
(4)
v d@att a, b, ¢ % e AR

172 o
2a - 3b+5¢ @ K AH &
MR T T s ]

15

(2)
10

(4)

123.

(2) A

4) ¢

af Gl x2 — bx + ¢ = 0 % el &1 AT
qorfer HEad &, @ b2 - 4c ®

(1) 0 2) -1

(3) 2 4) 1

3 gerati & 0.9, .9, F9W: 13 37K 1989
2, aft v v 117 ), 1 gl @

(1) 223 2) 221

(3) 225 (4) 222

TF ga&o § Yo ) gedr 40 € | Af yud
10 Jeull &1 77ed 4.5 AU I HEE 3.5 7, AR
HA&T0T 1 A1ET &

(1) 8.75 (2) 3.80

(3) 4.25 (4) 2.82

14 9t R A TF 3 79 & AR ST
Teh TS (19 S el ST € | §6 o sl gequl
U3 3

(1) 2464 TH©
(3) 616 THP

50 wEaTd €t 78 8 | ¥ EEH Y 53 ¥ | qemn
ST & SR NI St 1 A1 3.5 % | A
TEae! &1 A1e B
(1) 46.5
(3) 56.5

124.

125,

126.

127.

(2) 1134 g
(4) 924 T

128,

(2)
(4)

53.5
49.5

129. WIS, 9, 14, 15, x + 1, 2x - 13, 26
30, 32,§4ﬁmﬁ%ﬁﬁwﬁﬁ%mam%|
3 HTHT! 1 WEAF 24 B | x FT U D

(1) 21 (2) 19

(3) 16 (4) 20

’aper - 2/B

121.

122.

123.

124.

125.

126.

127.

128.

129,

- W

y the ratio of IHIHHJ{?]-
ng 3 - 2. When 20

nts was o - A——
he ratio was reversed,

us g:llht‘l'i
hat of g€
ned, t

In a religio
of ladies to tha
nts jol

’I;‘ll'?: (;1%1‘1‘nbcr of ladic-,‘s( 5\-’3:@40
6 - .-
{é; 54 (4) 36
ers a, b, cif
_zero real numbers a
F:r tglrei noga__‘__g_l?_.t—”i‘i _ the value of Kis 1
—5 s —3— — Z— = =
(1) 20 (2) 15
(3) 25 (4) 10
If A and B be any two sets such that A-B=A
then A N B is
(1) B (2) A
(3) AuB 4) ¢

nx2-bx+c=0are
then b? - 4c is
-1

1

If the roots of the equatio
two consecutive integers,
(1) 0 (2)
(3) 2 (4)
The HCF and LCM of two numbers is 13
and 1989 respectively. If one of the number
is 117, then the other number 1s

(1) 223 (2) 221

(3) 225 (4) 222

The number of observations in a survey is
40. If the mean of first 10 observations is
4.5 and that of remaining is 3.5, then the

mean of whole survey is
(1) 376 (2) 3.80
(8) 4.25 (4) 2.82

A right circular cylinder of maximum
volume is cut from a solid cube of edge 14 cm.
The total surface of cylinder is

(1) 2464 cm? (2) 1134 cm?
(3) 616 cm? (4) 924 cm?

There are 50 numbers. Each number is
subtz}‘)acted from 53 and the mean of the
lumbers so obtained is -3.5. T

the given numbers is e
(1) 46.5

3) 565 (2) 53.5

(4) 49.5

'é‘gnggscrvations 5,9,14,15,x+ 1. 2x-13
» 30, 32, 34 are written in an as’cendiné

order. The di

the value D;n): 1an of the data is 24. Find
(1) 21 2
I
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138. uﬁmméaﬁa%éaqﬁzs"uwm?%ﬁlévm
a-ﬂqAﬁ;%a?ﬁﬁ'ﬁﬂ'-‘ﬂﬂﬁWW%*
(1) 20% (2) 18%
139. ahnqﬂasﬁr@ﬂaﬁwvﬁnsémﬁaqéﬂﬁ?ﬁ
o 8. 3, a2l wematl A I AT
15
(1) 2,6 (2 44
3) 3,5 4 1,7
140. %sﬁwﬂanﬁrmﬁ%waﬁmﬁaﬁimtl
trf‘a‘ﬁwmamamqm%faﬂmm,oooﬁ,?ﬁ
yRaw $t gt ama freeh @l 7
(1) ¥ 60,000
(2) ¥ 40,000
(3) ¥ 30,000
(4) T 50,000
141, o U@ T F @S gl 8 10% F9 @iz
2 i 35 TEm B 10% 1e T A R | 36
SR
- 2'00 Z"::
(1) ).29/ (2) 225
(3) FHEFETE  (4) 20%
142. qﬁ'ﬁmxz—px+54=oﬂ;rﬁ2:3%
T | €, @ p % W R
(1) -21 2) 21
(3) 15 (4) 18
143, T WA THHA! h SaATgd F I 25 ;64
A1 3T SATEI F1 ST 4 : 58 | § ATe
1 HIE 2
(1) 5:8 (2 1:4
Paper - 2/B

22

138.

139.

140.

141.

1421

143.

Yo i

=

more than tnat of g
14

2 is 25%
If A’s salary 18 miy gl lea;

then how much percen
than that of A ?
(1) 20%
(3) 15%

is 8. Dctenni
two natural numbers 18 C . -
tsltlgmn?_lfmbers if the sum of their reciprogy

18%

(2)
25%

(4)

-
is — .

15
(1) 2,6
@ 3,8

(2)
(4)

The expenditure of a family .in a month 1
is given in figure. If the Fixfference of
expenditure between education gnd trave]
is 7 4,000; what will be the total income of

the family ?

4,
1

4
7

House Rent

Education 20%

25%

Savings
20%

(1) ¥ 60,000

(2) ¥ 40,000
(3) ¥ 30,000 1
(4) ¥ 50,000

Travel
15%

Food
20%

Jatin buys an article for 10% less than its
value and sells it for 10% more than its |
value, his gain is i

- 7
1) 222y 7
(1) 225% @) 225%

(3) None of these (4) 20%

Ty T i T

[f the roots of the equation x? - px + 54 =0
are in the ratio 2 : 3, then the value of p is
(1) -21 (2) 21
(3) 15 (4) 18

Ratio of the heights of two right circular
cones is 25 : 64 and ratio of their diameters
i8 4 : 5. The ratio of their volumes is

(1) 5:8 2) 1:4

3) 1:2 4 1:3

e T

g e TR

I————
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4.
14 g = (% x ¥ WO, - 1 g, A Yy
c-A-BRDC ¥ gy S0 g 4| 144,
(1) 3 (Qf[r.zm * diay 3
(3 4 @)
P arad st & s | ,
" qtorm @ ‘}":ﬁazmuﬁ%,m e
(1) 688 N ks ;
(3) 52 @ 35
46 @ﬁmﬂQsm;@Eﬁ%ﬁ
i T TR R 1 3R 0 gy FAXRA | 146,
qa_looma,awmmggwﬁm
i ge Fra hifw T I
(1) 30000 I @ Hse
00
(3) 15000 T (@) QOOOOE
a7, 0 52 T T R o e e | 1
8
W 6
L~ @ =
3 2 &
(3) & e
148. T ABCD U W5hid 9w & | T wfimgm | 148.
(x,y) ®
A B
3‘3’60 i
¥ 20 %
ay x
C.\ L D
-] o > 150)
(1) (15°, 35° (2} 39, %2
(3) (40°, 35°) (4) (15%25)
' 721 | 149.
e, x 3 g R P AR T
25, 26, 27, 23, 27, 26, 24, %, 41 <™
24
(1) 25 ii; -
(3) 26 ﬁfﬁf'*y!*'zs_-axyz 150.
150, Qﬁx=2gy=1;2="3 "
T R @ 2
(1) 8 (4) 6
LR 23

I_f A = {x: x1s a letter in word BELOW |

Ij‘ = {x : x is a letter in word WOOL} ar;;i

| & . A - B, then the number of subsets of
Cis ‘
(1) 3
(3) 4

(2) 2
(4) 1

The perimeter of a rhombus whose
diagonals are 10 cm and 24 cm is

(1) 68 cm (2) 34 cm
(3) 52 cm (4) 120 cm

A company makes an advertisement to
collect a capital of Rs. 25 lacs of shares. If
the printed price of one share is Rs. 100,
then find the number of shares circulated
by the company

(1) 30000 shares
(3) 15000 shares

From a pack of 52 playing cards one card
is drawn at random. What is the probability
that the card is a spade or an ace ?

(2) 25000 shares
(4) 20000 shares

g 6
m £ @ =
@ 2 @ 15

In figure ABCD is a cyclic quadrilateral,
then the ordered pair (x, y) is

A

£ 4
9 &

A‘?* Q‘o

(&)

(2) (10° 159

(1) (15°, 359)
(@) (15°,25)

(3) (40°, 35°%)

For what value of x the mode of the following
data is 27 ?

25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25
(1) 25 (2) 24

(3) 26 4 27

fx=2,y= 1,z=—3,thenx3+y~‘+z3—3xyz

equals
(1) 8 (2) 2
3) 0 (4) ©

[P.T.0.
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(1) 3=y (2) SRR
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aT9shy faetmar &1 319 &

(1) wedt S8 & a1y fedr amasmy
(2) wed! HATE & WY dgdl dT9Hd
(3) wgdl FaT8 & @y AR qUHH
(4) Fgd FTE & Y Tl a9FH

Frafefad samml # @ #14 fg=< ofdsT @
a2 ?

(1) 4T ErR

(2) mfe= seay Id g
(3) mfa=< @R

(4) TITeft AR

ferasht =1 uftrg veldia =t @
(1Y Tafeem

(2) ITEUE H

(3) femmae wewr &

(4) ST U HYHR H
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91.

92.

93.

94.

95.

96.

97.

98

-

Who is the founder of Din-i-Ilahi ?

(1) Akbar
(2) Humayun

(3) Shershah Suri

(4) Muhammad Gajanavi

In whose reign did Hsuan-tsang come tq
India ?

(1) Harshavardhan _

(2) Chandragupta Vikramaditya

(3) Skandgupta

(4) Samudragupta

Who among the following €mperors was

called ‘Qalandar’ ?
(1) Akbar (2) Humayun
(3) Shahjahan (4) Babur

The Governor General, who partitioneqd

Bengal was '
(1) Minto (2) Canning
(3) Mayo (4) Curzon

Kunwar Singh was the Zamindar of which
State ?

(1) Avadh
(3) Bitthore

(2) Jagdishpur
(4) Barrack-pore

Inversion of temperature means

(1) Constant temperature with height
(2) Increase of temperature with height
(3) Fluctuating temperature with height
(4) Decrease of temperature with height

Which one of the following reservoirs i
associated with Rihand Project ?

(1) Jawahar Sagar

(2) Govind Ballabh Pant Sagar

(3) Govind Sagar

(4) Gandhi Sagar

Shipki La is the famous mountain pass o
(1) Sikkim

(2) Uttarakhang

(3) Himacha] Pradesh

(4) Jammuy and Kashmir
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100.

101.

102.

103.

104.

10S.

[ 106.

99,

g ST & HEE ) Rwgoag 3
Trsr-Ts FA w1 F1ieY =
(1) Phem A e ]

(29 foaror fafirt =

(3) zad @ =1 e

(4) foer % 3R
‘LWTS‘I’&?UT%’;H&T@EF me%
(1) w1 18

(3) "=

frer

Fevst

ST’ % SEE Y
(1) Y (2) fnfy

(3) s (4) eemg
%mﬁ%mm%mﬂaﬁpm?
(1) fargEm

(2) HRIIEHIA=

(3) HrermITE

(4) 3ITA9R

et 3 ‘3aed @HT & i sEm o

(1) feoehi d (2f wRg dt §
(3) faeeud (47 T

3774 gy <1 TaTeT g oft
(1) 1875% H. (2)
(3) 18807%. 1. (4)

A A @ 9w Fie A grEfAd T

1870 %. ¥.
1865 . H.

(1) SHsERIee @l
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106.

Social studies teacher s would have
knowledge of subject matter as .
(1)

(2)
(3)
(4)

well
Teaching techinologm

Teaching methods

None of these

Educational objectives

The most useful teaching material for the
Geography is '

(1)
(2)
(3)
(#)

Flash Card
Map
Barometer
Calendar

‘Ashtadhvayee’ was written by
(1) Shukadeva 2}
(3) Valmiki 4

Panini

Vedavyas

The Second Buddhist Council was held
during the reign of

(1) Shishunaga

(2) Mahapadmananda

(3) Kalashoka

(4) Udayabhadra

Akbar constructed Tbadat-Khana'in

(1) Delhi (2) Fatehpur Sikri
(3) Sikandara (4) Agra

The Arya Samaj was founded in the year
(1)r 1875 AD. (2) 1870 A.D.

(3) 1880 A.D. (4) 1865 A.D.

Who among the following was not associated
with the Kakori case ?
(1) Ashfaqullah Khan
(2) Rajendra Lahiri
(3) Surya Sen
(4) Ramprasad Bismil
Which Part of the Indian Constitution deals
with Fundamental Rights ?
(1) Part Il
(2) Partll
(3) PartV
(4) Partl

(P.T.O.
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o

; = 2 hicl . of the following A[nend'nlt:nta 4.
e} T 1 458 P g Pt bl e ::- t;:;COonnestimtion of India deals with the 1
e iy g R ? issue of strengthening of the Panchayay
; Raj ?
(1) 73 af g {1?;LJ 73 Amendment
(2) 44 3 GIEA (2) 44" Amendment
s (3) 86" Amendment
(3) 86 EII'EWﬁW (4) 42ndAmcndment 5.
(4) 42 af qeneA i 1 Court of Justj B
108. sr=wistT = 108. The office of Internationa ice
Wwﬂa% is situated in
(1) z&m (2) @& (1) The Hague (2) ;O“dgn "
(3) ufE (4) (3) Fesis Ll
109. SN fia 9 gftar frive faed o 109. Population control and family planning
SRy ¥ atarta frg <t 3 &ﬁﬂ; ” is listed in which Schedule in the Indian 116
T ' Constitution ?
(1’ E_IIIEIEH Wﬂ (1) Concurrent list
(2) wa g (2) Union list
(3) emafite fawy (3) Residual subjects
(4) TsagEh (4) State list
110. el 3 & #-a ftws Rgia Akm AR A | 110, Which one of the following Directive |
e R ? ' Principles related to Foreign Policy ?
(1) 3F=32 50 (1) Article 50
(2) 3TI=RT 49 (2) Article 49 1
(3) =% 51 (3) Article 51 |
(4) D% 48 (4) Article 48 't
111, e sooma e fim 2 111. Bhilai steel plant is located in '
(1) qw'sré‘qﬁ (1) Madhya Pradesh
() snra:s'ﬁ. (2) Jharkhand 1
(@) shfem (3) Odisha
(4) oeTgd (4) Chhattisgarh
112. i = ; 4
ﬁuﬂﬁﬁ;iﬁ?ﬁﬁﬂﬁi ot gl 9 w5 112. Which one of the following rocks is an l
AT | example of sedimentary rock ?
(Y = (1) Shale
‘j’ e (2) Marble
:4; @zaqug (3) Granite
(4) Slate
113. Y=ad-an & 4o #i fomn @29 @ @ 113. The tail
(1) Im- ch £ 3k . of a comet always points
@ wWag (1) towards North-East
(3) afw-qd i 3 (2) away from the sun
(4) g4h AR (3) towards South-East
(4) towards the sun
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117.

18.

119.

120,

(1) EaA®

2) Ffrerea Wt
(3) TAA

(4) ol

3 ¥ P IoTHRevr Treers T8 2 2

(1) s

(2) anfEm
(3) FraATETd
(4) TFAT

P 32 o v s e e
L o”I F &1 Td THT A < 8§ waifies

IgE R 7

(1) ==

(2) fawa &yl s
(3) T & =g 7

(4) frva = v maf

114.

118,

116.

117.

118

12

27

Which one of the following is assc
it Crated

with fault ?

(1) Hoghack

(2) Strike valley
(3) Graben

(4) Antichinorium

Which one of the following is net a tropical

desert ?

(1) Gobi

(2) Arabua
(3) Kalahan
(4) Atacama

Which one of the following is the mos!
suitable teaching aid to show proportionate

size and shape of continents ?
(1) Globe

(2) Physical mup of the world
(3) None of these

(4) Political map of the world

The sultable method of geography

teaching 1s

(1) Story method

(2) Discussion method
(3) None of these

(4) Tour method

understood by way of
(1) Alphabets
(2) Conventional symbols

(3) Thematc maps

(4) Sketch

119. U-shaped valley is formed by

(1) winds (2) River

(3) Sea waves

0. The capital of Australia is
(1) Melboume
(2) Canberra
(3) None of these
(4) Sydney

(4) Glacier

A universal language of the map can be

{P.T.O.
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riter of ‘Rajpoot Painting’ ?

: 3 3 121. Wwho is the W
121, TEE &ﬁﬂ’%ﬁé@?aﬂ#% ! WG, Archer
(4 z= - o (2) Rai Krishna Das
G ™ o (3) None of these
) bl it " (4) Ananda K. Coomaraswam}’
v - = 122. Folk Art is associated with
oot (1) Modern Art
b ﬁ;ﬁ;ﬂmlgfﬁma (2) pPainting
. uritfasrfa 2 (3) Pre—Historical Art
{(j'.: & armi‘;m ’ (4) Regional Art
123. Sarfiyd fosmes Fed ¢ 123. Geometrical design is called
(1) aﬁﬁﬁﬁaﬁﬂﬁ (1) Design made in square o
(2 warfidia sl @ & i (2) Design made by geometric orms
(3) ¥H 9 =g el (3) None of these

(4) Geometrical forms
ated with which State ?

(2) Madhya Pradesh
Uttar Pradesh

(4) i s @
124. oo wary R Tsa AR

(1) ey (2) wEA T
(3) ITU@E (4) IW (3) Uttarakhand  (4)

125. fezmarh wrfa 3 e ?ﬁ@’aﬁﬁﬁﬁ#@Tm:ﬁ 125. How many total aumbers of Shrutees are
there in Hindustani Sangeet ?

124. Aipanis associ
(1) Maharashtra

MR
(1) =@ (12) (2) ¥ (13) (1) 12 (2) 13
(3 F(9) (4) wTEH (22) (3) 09 (4) 22

126. B fam FE TSR 7 126. When “Sports Day” is celebrated ?
(1) 30 = (2) 29 I (1) 30 August (2) 29 August
(3) 31 AT (4) 25 I (3) 31 August (4) 25 August

127. dmEmmuivgErY dne FoeseHe ! | 127. Whois the author of the most prominent
book on yoga “Yog Darshan” ?

(1) =l gasie
(2) HefdamE (1) Maharshi Patanjali
(3) =l Zaew (2) Maharshi Narad
s (3) Maharshi Devdatt
4) HEff Wi
E;m Ll (4) Maharshi Bharat
128. b i m ‘}T?.h il L « iR
5, T f q‘_g" @mﬂﬂi EElaﬁ g7 128. ‘Zein’ protein is related to which crop ?
(3) EH (4) ¥ d i) Maize (2) Soybean
- £ A P N S (4) Paddy
. T -9] 9&1 2A[= a0 [ i
) E - ,S‘Fﬁ@? ! 129. Which breed of cow is dual purpose ?
(3) YA (4) T e (2) Jersey
130, M 1 e Frrt U Sterar & W Themager i O
g SRR LA gafamng ? [ 130. India has divided i
i o (2) 12 Climatic Zones ? in how many Agro
(3) 22 (4) 9 (1) 15 ' @) 12

(3) 22
Paper - 2/B 5 4) 9
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{ India enunciated

142, Wd ¥ I==IE9 AR I @fauE F zZ5H e Court ©
1 fargr= faan - e T:g g;lg;firge of Bfasic structure of the
(1) T=T+19 ¥ 919y o Constitution in India
(2) G f&e % g 3 (1) GDlakhSNatl; CiE'S:Z
1 - - 3 N ne ij i ¢
(3) T CIGHE R g izga?va;ﬁd Bharti case
(4) IHQ WG F AHA H (4) Shankari Prasad case
143. 9T @faum ¥ 9 o3<0e & st=nfa tsaor@ | 143.  Under which Article of the Indian Constitutiol?'
T e = gty R wiifa & forg giferg the Governor has the power to reserve a bill
T 1 wifd wEar d ? for the President’s assent ?
(1) Hg=8% 200 (2) ¥¥F= 108 (1) Article200  (2) Article 108
(@) FTWI213  (4) WG=I% 52 @) Article213  (4) Article 52
144, ¥NE % STyt & fFatas fHates gvea gm 144. The Vice President of mdi?l is elected ;31’ thi?
o 2. res ge=m 3 members of an electoral college consis g o
_ 2, oyt 5 TR (1) Elected members of both Houses of
(1Y €88 % 31 gel & faifad aew= Parliament o a8 g
e 3 A et A (2) All members of both Houses O
2) F’Hﬁﬂ:@ n & ol v Parliament )
(3) T3 gw & Fraifd wee (3) Elected members of the Council of
States
(4) TSA B Bt wed (4) All members of the Council of States
145. ﬁﬁ—w%maaﬁﬂmmaﬁ%? 145. Which country is not the member of SAARC ¢
(1) s (2) 9T (1) Bangladesh (2) Nepal
(3) <M (4) S (3) Japan (4) Bhutan
146. FfZ% &5 #1 wafd 146. Progeny of nucleus seed is
(1) WTﬁ’Tﬁ EiE| (2) ERE == (1) Certified seed (2) Foundation seeil
(3) st o=l (3) S SIS (3) Registered seed (4) Breeder seed
147. #=g simda wd gy dur geE R ? 147. Central Institute of Medicinal and Aromat ¢
(1) i (2) 4 feeht f’}f‘ngifog‘;?ated ® 5} NewDelhi
elhi
(3) TEAS (4) TRER (3) Lucknow (4) Hyderabad
148, TS A % forg Haties SUgE 6l § 148. '11"nhaf]=:{1 :r?gof; suitable fruit for marmala i
(1) ®edl 2
( 3; s i 4]) — (1) Malta @) gamun
(3) Bael (4) Banana
149. HHA @ Trffivehl SEUH T fom g 149. Central Food Technological Researc
(1) =AEH (2) WETIYG {tll)stlit{ute % zli:uated at
e o arnataka (2) Maharashtr
(3) FHHEHE 7l (4) 73 feeeht (3) None of these (4 New Delhi :
50, et = fere wfter o S e 7 150. Which preservative is used in Jelly makin
(1) HeHmEe . (2] ufFe (1) Sulphite (2) Pectin
(3) wowt TrisTaERs (4 T (3) Sulphur dioxide (4) Sugar
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